Pant Part Whole Models

A Part part whole model is used to /split a number into two di/ﬁfzrznt part/s. The middle section C/F the
model is where the whole number is. The other sections that hranch uff 04: the whole are the part/s (thz/se
moake Mp the whole mAmbzr)A
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TEJ’I/S ,Flamz,s

Tens Cpramzxs are used to show a number, i/f the tens /Framz is MM it will uzpuz/sznt the number 10. The
children should he able 1o subitise (kn,ow the rnumher bAﬁ Z}M/st hjukinq rather than Umntinq the gbf’(zd/s)
numbers up to 10 u/sing[ the tens /Framz. We can show any number. LF wonld like to show a number bhetween

[l and 20, I would need to wse two tens @ramzﬁ.

Bar models

Bar modeks are similar to pxut Part whole models. We show the whole number (haw many Mou hanve

altoqzthzr) in the larqz/st seckion mf the bar model. The Part/s

and the sections which moake up the whole number. In the
m zxampha helow, we can see the whole numhber is 20 and the Part

| | is 8. InYear | we look at the miﬁﬁinx} numhbers, in this zjxﬂmphz

E the mi/slsiru} rumber is | 2. We can write a numher sentence ko

OLLOMPANY this, it would he 12 +8=20.




Number lines

Number lines are used to show the AegMenLe 0/? rumbers. Number lines are mftzn shown di@fzrzntw;
these include amall sections /J/F a number line Below are two e}xamplza 04: di/?/j:zrznt number lines.

Sometimes numhers will he mi/s/slnx} on the numher line.
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Number bonds

Numher bonds are two rnumhers that are added t,aquth,er to make a total BA{[ the end E/F Year |, children
should know their number honds to 10 and their numher bonds to 20. Please /Find the dj/F/Fzrznt number
bonds which the children are rquuirzd to know.

Rainbow to 10

023145675810 10111213 16 151617 15 1920

@ 0+20=20 10 + 10 = 20
812345 5678910 11+ 9 =20
2+18 =20 12 + 8 = 20
0+10 =10 10+0=10 3+17=120
1+9=10 9+1=10 4+ 16 = 20 14 + 6 =20
8+2=10 5+15=20 15 + 5 = 20
3+7=10 7+3=10 6+ 14 =20 16 + 4 =20
4+6=10 6+4=10 17 +3 =20
5+5=10 5+5=10 8+12=20 18 + 2 = 20
9+11=20
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Bead Stﬂru%,s

Bead /strinx}/s u/sr\m“kﬁ look like the PJ'wtu below, t}‘\zi\j Lome in wo di/F/Fzrznt sizes. |he .phctg on the 12@1
shows the 20 bead string, the colours alternate they are always in groups of five As the children begin
ko get more confident, they should he able ko counk in S's by the end of KSI.
Inthe phﬂt,o to the rix}ht, YoM will see the 100 head /strinx}, the colours
alternate but thm& are alwmﬁ/s in groups 0% 10. We use bead /strinx}/s to add,

subtract and idznti/pj Pattzrn/s.
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Number sentences

Numhber sentences can be shown in di/ﬁfzrznt WAM . We LNLOMI0G L the children to rzprz/sznt rumber

sentences in different ways. Please see an example of this helow:

L+5=9 5+L=9 Q=5+k Q=4 +5
Inverse

The inverse is the process of using the opposite operation to check our caleulations.

If we were using addition we could check our caleulation by using subtraction eg. b +5=9

We couhd check this bxg dningf A-5=4 We can see that we are M/Sinx} the same numbers so we must he

correct!

L? We wWere M/sinq[ mulﬂph.cation, we could check our answer u/sinq division 2.4. [0 x2=20

We couhd check this b/% doingf 20+2=10

E,stlmaﬂnq

When we estimoate, we make a qaod GuRAA. I/f We Were e&tlmatingf

(qME/S/SlﬂA%) how many sweeks are in the j'ar below I would make a (}ﬂﬂd

GueAA. I mix}ht A0 there are /7 sweets, this is a A}Dﬁd GURAS 0% I can
see that there are not more than 10 in the }ar. Howener, i/? I said there

were 20 sweets, this would not bhe a qaod estimate.

Mﬂ/S/S

Mass is how heavier or hﬂj'\t éumzthinq is. We use scales to show this in Maths. The scales bhelow show

how we would show this on a set O/F scoles,
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The applz is heavier than the air. The crayon is zq/ual to the cubes.
The air is X;(}}\tz; than the ﬂPPu, The Lrayqon wzu}h/s S cubes because thz»\ﬁ

are zq,»\ml in mass.






